> aingen

function(r, th1, th2){

cm<-abs(outer(1:4, 1:4, "-"))

cm<-r^cm

y<-mnor(1000, c(2,3,4,5), cm)

yv<-matrix(data=0, nr=0, nc=3)

for (i in 1:1000) {

eta<-th1*y[2,i]+th2*y[3,i]

p<-exp(eta)/(1+exp(eta))

m<-c(1,1,sample(c(0,1),2,replace=T, prob=c(p, (1-p))))

yks<-cbind(i,y[,i],1:4)

yv<-rbind(yv,yks[m*1:4,])

}

yv<-data.frame(ind=yv[,1], y=yv[,2], t=yv[,3])

yv}

> mnor

function(n,u,s){

x<-matrix(u,nc=n,nr=length(u))

x+chol(s) %*% matrix(rnorm(x), nc=n, nr=length(u))}

>

> a1a<-aingen(0, 0, 0)

> a1b<-aingen(0.9, 0, 0)

> a2a<-aingen(0, 0.17, 0)

> a2b<-aingen(0.9, 0.17, 0)

> a3a<-aingen(0, 0.333, -0.125)

> a3b<-aingen(0.9, 0.333, -0.125)

>

> library(nlme)
> a1a<-groupedData(y~t|ind, data=a1a)

> a1b<-groupedData(y~t|ind, data=a1b)

> a2a<-groupedData(y~t|ind, data=a2a)

> a2b<-groupedData(y~t|ind, data=a2b)

> a3a<-groupedData(y~t|ind, data=a3a)

> a3b<-groupedData(y~t|ind, data=a3b)

>

> m1a<-gls(y~t, data=a1a, corr=corIdent(~1|ind), method="ML")

> summary(m1a)

…
Coefficients:

               Value  Std.Error  t-value p-value

(Intercept) 1.052364 0.04262314 24.68996       0

t           0.995128 0.01774846 56.06843       0

> m1b<-gls(y~t, data=a1b, corr=corAR1(,~1|ind), method="ML")

> summary(m1b)

…
Coefficients:

                Value  Std.Error  t-value p-value

(Intercept) 0.8971034 0.04855521 18.47595       0

t           1.0270433 0.01686909 60.88314       0

> m2a<-gls(y~t, data=a2a, corr=corIdent(~1|ind), method="ML")

> summary(m2a)

…
Coefficients:

                Value Std.Error  t-value p-value

(Intercept) 0.9567883 0.0427372 22.38772       0

t           1.0072197 0.0186360 54.04700       0

> m2b<-gls(y~t, data=a2b, corr=corAR1(,~1|ind), method="ML")

> summary(m2b)

…
Coefficients:

                Value  Std.Error  t-value p-value

(Intercept) 0.8988943 0.04715407 19.06292       0

t           1.0384335 0.01752249 59.26289       0

> m3a<-gls(y~t, data=a3a, corr=corIdent(~1|ind), method="ML")

> summary(m3a)

…
Coefficients:

                Value  Std.Error  t-value p-value

(Intercept) 0.9805748 0.04283465 22.89209       0

t           1.0035266 0.01872816 53.58385       0

> m3b<-gls(y~t, data=a3b, corr=corAR1(,~1|ind), method="ML")

> summary(m3b)

…

Coefficients:

               Value  Std.Error  t-value p-value

(Intercept) 1.032006 0.04998879 20.64474       0

t           1.001440 0.01827739 54.79122       0

> aingen

function(r, th1, th2){

cm<-abs(outer(1:4, 1:4, "-"))

cm<-r^cm

y<-mnor(1000, c(2,3,4,5), 100*cm)

yv<-matrix(data=0, nr=0, nc=3)

for (i in 1:1000) {

eta<-th1*y[2,i]+th2*y[3,i]

p<-exp(eta)/(1+exp(eta))

m<-c(1,1,sample(c(0,1),2,replace=T, prob=c(p, (1-p))))

yks<-cbind(i,y[,i],1:4)

yv<-rbind(yv,yks[m*1:4,])

}

yv<-data.frame(ind=yv[,1], y=yv[,2], t=yv[,3])

yv}

>
> m1a<-gls(y~t, data=a1a, corr=corIdent(~1|ind), method="ML")

> summary(m1a)

Coefficients:

                Value Std.Error  t-value p-value

(Intercept) 0.8574956 0.4152684 2.064919   0.039

t           0.9538698 0.1718465 5.550707   0.000

> m1b<-gls(y~t, data=a1b, corr=corAR1(,~1|ind), method="ML")

> summary(m1b)

                Value Std.Error  t-value p-value

(Intercept) 0.9560960 0.4759632 2.008760  0.0447

t           0.9373542 0.1625175 5.767711  0.0000

> m2a<-gls(y~t, data=a2a, corr=corIdent(~1|ind), method="ML")

> summary(m2a)

Coefficients:

                Value Std.Error  t-value p-value

(Intercept) 1.4405818 0.4128069 3.489723   5e-04

t           0.8954515 0.1769631 5.060103   0e+00

> m2b<-gls(y~t, data=a2b, corr=corAR1(,~1|ind), method="ML")

> summary(m2b)

Coefficients:

                Value Std.Error  t-value p-value

(Intercept) 1.4884235  0.465533 3.197246  0.0014

t           0.9215342  0.171138 5.384745  0.0000

> m3a<-gls(y~t, data=a3a, corr=corIdent(~1|ind), method="ML")

> summary(m3a)

Coefficients:

               Value Std.Error  t-value p-value

(Intercept) 1.116190 0.4137534 2.697719   0.007

t           1.220046 0.1755212 6.950988   0.000

> m3b<-gls(y~t, data=a3b, corr=corAR1(,~1|ind), method="ML")

> summary(m3b)

Coefficients:

                 Value Std.Error   t-value p-value

(Intercept) -0.2323378 0.4929328 -0.471338  0.6374

t            1.5711663 0.1822264  8.622058  0.0000

